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(4.2.3.4) Deline afiN = IN g\} oy 527, Fiesh,
ou IS NoT onta. To see 4—\\:.9) no ¥ice twal 3¢.Rom3z (o,
sSince 2PN is even for o2 A €I, SQcan\) o. TS

onk —to —ana, To see +\\:s) SUPPOSQ r\)m € N Os.f\(!.

A0 = 3,
Twea In 02N =14 («3:“3) so  Atla () = la (3
and -\*\«Qr@-\\-orQ. NS, i

(“\.3.5‘3 SUP(DQSQ, £ :A-—BB a._n& c::):B -~ C are on‘\-o.
we show ok %OJ«:‘. A S C oS5 Qn"'e‘ ey WG—.C.'
Since o is onke A be B suvch Fhat o}b\ =W,
Siance £ s cn+c) 1 o €A socn ¥hady Tl = b,
Twen (.%“‘93 () = %(. Ll = 3(.&:3 Sy, We
conclude  +\al chmy?. (.cso-(:) = C.n <
(dd,2..2) Defina £: 120N 201N b% L) = 7%,
We Ffiest show that £ is ente. Leb pE QOIN.
Then p 20k Ffor some k €EIN,  We havr +\at
NS FNISK and £ Ci1ak) = a0k = P Thous
£ 35 ANTO, To s Mol £ is one --"\'o'-'on‘z) led
€ 13 IN and asSsum -P(x\\’: Q(.Xg\'\. Then
S = 5%,)(&) so X Txy . 0
(4.5 10.0) Led £:A DB, Svppose E SB. We show Hhat
LCeveeN e B, Led ue £0&7EY, Then 3 x€
SHEY) sudh Phad = £, Buk & £ (EA).SQ
Ll €8, We cancllmde Phal ubE.E.
(4.5.13) Lot £t AR, we shew Prafd if £ s one.-+<>~on9.)
Pean SO~ FXY) = £UXAY) For o X X © A,
Praol ! Assome KXY CA and ossuwe + is one —~Yo -ene, We
have L (XoN) =« £ LD \:»}5 Theorern 4.5.1 . We +he-
refere neRd £(X) N £(Y) = LX), Led o€
-CCXXN-{:(.\() . T Wea a )d) 2 €A such —“\ﬂG.‘\"

xeX, 2€Y | and FLD= £(D = p. Buk ¢
so xZz2. We cencmde Fhad

><." 3><3~

is one —+a -—-ch)
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We canclude that 2 €X oY and so PG: -F-CX"‘() .
This c:cmg\%%@.s Pre Prcar‘?. o

Converse 7 The converse os Frue .

Claim: Lot £: AR, Prove Fhat if £(X) N § (V) =
£OXAY) for ol X Y C A Fren £is one -

":c"‘onQ . :
Praof: Lol C~yy g, S P and assume £ Ck‘\ = -Q(O\&\,
Led us use Yo denote £ (o). Usims e

huépo-\-\ne.sc.s with X = Eo\li) Y = S_Gm%\ y WR

holua
SO AN = 1930 593 =548,
So £C ‘io»\-i n %‘MA%B = EL}% )
We. must Paecefare have O\\:‘O\aa) sinck o bwerwise,

fo..% O %0\@% = <f’) and F( @) = ¢.n



